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1 - Exercises (1-6) P7
Use the order of operations to evaluate algebraic expressions
a=—29b=39 c=4.2 53] pui JS dgd s>
1. a—2b+ 3¢ 2. 2a+ (b+3)° 3.a+3b° —(a+ ol
a’ + 4c
4. 5¢— 2ltb — a) + ! 5. 4(2a + 3b) — 2¢ 6. “3p 13,
Evaluate each expressionif a = —2, b =3, and c = 4.2.
1. a—2b+3c 4.6 2. 2a+ (b+3)? 32 3. a+3[b = (a+ )] 18.4
2 =
4. 5c—2[(b—a)+cl 26 5. 420+ 3b) — 2 116 6. -T2 416
b + ac 3b + 2a 3a— 2c
. -1 0.96875 8. “7 " 6.25 9. 27— 0.6
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2 . Exercises (37-42) P15
Use the properties of real numbers to evaluate algebraic expressions
) et e S Jani
37.8b — 3c + 4b + 9c¢ 38. —2a + 9d — 5a — 6d
39. 4(4x — 9y) + 83x + 2y) 40. 6(9a — 3b) — 8(2a + 4b)
41. —2(-5g + 6k) — 9(—2g + 4k) 42. —5(10x + 8z) — 6(4x — 72)
Simplify each expression.
37. 8b — 3¢+ 4b + 9¢ 12b + 6¢ 38. —2a+9d—5a—64d —la+ 3d
39. 4(4x — 9y) + 8(3x + 2y) 40x — 20y 40. 6(9a — 3b) — 8(2a + 4b) 38a — 50b

41, —2(=5g + 6k) — 9(—2g + 4k) 289 — 48k 42. —5(10x + 8z) — 6(dx — 7z) —74X + 2z
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3 . Exercises (30-35) P14
Use the properties of real numbers to evaluate algebraic expressions
Ade S ‘.:’J""“J‘ v asagdly 9.|.¢qdl vesagd! do
30. —8 31. 121 32. -0.25
6 3
33. 43 34, —3 35. V15

Find the additive inverse and multiplicative inverse for each number.

30. —§ 8 —% 31. 12.1 —12.1;% 32, —0.25 0.25: —4
6 _6 13 33 8 1
33 E 13° 6 34. 58 3 35. V15 ‘|5,\/E
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4 - Exercises (3-6) P22
Translate verbal expressions into algebraic expressions and vice versa
Adolae IS ried At 3 lee iS)
3. 5x+7=18 4. x> -9=27
5. 5y — y° = 12 6. X +8=-16

on /g dac Jl;_{i dwes fae>o .3 3. The sum of five times a number and

18 7 equals 18.
sa 99 saall 10 oo 3,2 .4 4. Thedifference between the square
27 of a number and 9 is 27.
Ruses pa Lo las sie <. .5 5. Thedifference between five times a
12 coluss ;'LJL:,J number and the cube of that number
LR s 12.

) Blas asls .6

6. Eight more than the quotient of
_16 égl_..us o a_)) g q

a number and four is —16.
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5 Exercises (45-50) P23

Solve equations using the properties of equality

Saongd| pdigd) W¥Ay ddeo o Wilee JS S

auys.cla+b)—d="f.46 m a4y .E = mc? .45
Xt

Y ¥e ———a=1b.48 havs .z = ©gih .47

z J¥s WX + yz = bc .50 A ind oy Yy = ax? + bx+ c .49

Solve each equation or formula for the specified variable.

f+d
45. E = mc?, for m m=£2 46. c(a+b)—d=f fora a= t —b
¢ x+ vy
47. z=1‘rq3h for h =L 48. —— —a=b,fory y=1z(a + b) —
~q —bx—c —
49, lj—nx2+h:r—|-( for a G—yT 50. wx + yz = be, for z z=bcy_wx
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6 Exercises (1-14)
Solve compound inequalities
Bl ey pladuiwly Aulie JS oiS!
1. {ala < -3} 2. {nln > -8}
3. {yly < 2ory=14} 4. {blb< —9orb>1}
5 {1 <t<3} 6. imim=4orm=< -7}
7. {xlx = 0} 8. {rl-3<r<4}
Q. ol e e e el i 10, il
—5-4-3-2-1 012345 —5-4-3-2-1 012345
L e o S s A 12, <ttty ol
-8 —4 0 4 8 -2 -1 0 1 2
13, sty —| 14, i
5 6 7 8 9 10111213 —15—-10-5 0 5 10 15 20 25 30 35
Write each inequality using interval notation.
1 {a|a<—-3} (—oo,—3] 2. {n|n>—8} (—8, +0)
3. {yly<2ory=14} (—o0,2) U[14, +x) 4 {b|b<—9o0rb>1} (—oo,—9]U (1, +00)
5 {t|1<t<3} (1,3) 6. {m|m=4dorm= -7} (—oo, =7 U [4, +0)
7. {x|x=0} [0, +o0) 8. {r|—-3<r<4} (—3,4)
9. e~y (—00, —1) U (1, +0) 10, iy~ [—5, 5]
—5-4-3-2-1012345 —5-4-3-2-1 012345
N ettt ——  (—8, 8) 12, <oy ———— iy (—00, —1.5] U [1.5, +-00)
-8 —4 0 4 8 -2 -1 0 1 2
13. p——|—| (—o0, 1] 14. D N S

I [ I I N I
—15-10-5 0 5 10 15 20 25 30 35
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7 Examplel P61

Analyze relations and functions

goedly Jlondd! |7
13) duond A1y COlS 139 .U (e 8 le e JS t.ulS ol Lo ddo ;u e JS 09 Jlowe 551
Logrio w‘_,mfl Logrel a1 AloL r;i Aot o fg OLS

a. {(—=6, =1, (=5, =9), (=3, =7), (=1, 7), (6, =9}
{—=9, =7, =1, 7} ..aad {6, =5, =3, —1, 6} s

(sed) B dand asly jacss o im Jleed) e jae S oY e i)l
sed) B a0 asly e o am ¥ Jleed) o maie S Y Y iasls] - aslsd)
Jned) oo Jzaie bilay gaedl (B ace S oY e calalia)

b. BN 2 | 1| -2 | —1
3 2 1| 0o | 1
{—2, 1,0, 1 2} .o {—2, —1, 2} . Jl)!

(0 5
13) adad (1> SOIS 1319 N e byl A8 US CalS ) I.o o ‘p RT}PS JS $09 Jlowa S
mb:mf.lw‘.imuf.i Ao o) dov /g SOLS

1A, y I 1B.
(0] X
1 18.D ={-3,-2, —1,
- 0,1,R={0,2,4,6,8};
1A.D ={-3,—2,—1,0, function; not one-to-one,
1,3,4}, R={-3,—2,1, not onto

2, 4}; not a function
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8 Exercises (12-15) P71
Write linear equations in standard form
Lo pf Wslae O Gl L)y gl 1 j95nel) o plalily ¥ GBY) jgomed) o glalit)] us
AL Fladh plasiul Lite Dalaed)
12. y =5x+ 12 13. y=4x—10 14. 2x + 3y =12 15. 3x —4y—6=15
12, S
12. = 12 13. > 10
y
& 7
12 6
4
2
—16—12—8—4b 4 8 12 16x —8—6—4—20 4 6 8x
|
8 —_
12 —6 II
16 —8
| | '
1. 6; 4 15. 7, -2
8 y 8 4
N6 6
4
N
2N 2 4
—8—6—4—20] 2 4 6 —8—6—4—20| 2 4/ 8 x
| |
—4 —4
—6 t/
—8 /_;
| ,/ |
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9 Exercises (6-11) P71
Write linear equations in standard form I
CoBgAsioy  ivewld) idall dilao JS i8I dued!
6. y=—4x—-7 7. y=6x+5 8 3x=-2y—-1
9. 8x=9y—6 10. 12y =4x+ 8 M. 4x—6y=24

6. &x+y=—-1A=4B=1C=—1]
1. 6x—y=—-5A=6,B=—-1,C=-5
8.3x+2y=—-1A=3,B=2,C=—1
9. 8x+ 9 =6,A=8,B=9,C=6
10. x —3y=—-2A=1,B=—-3,C= -2
M. 2x—-3y=12,A=2,B=—-3,C=12



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://iwtsp.com/971502509447
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN

e dalud Al [ uptal) oo https://t.me/mathbookl1GEN %@ N https://t.me/alllaaam82
050-2509447 U Aall e saall g - 858 EIpAs ilaaly ; clilaial 5 2 350 3l

aiinn (o Sy
10 Exercises (12-17) P80

Determine the slope of a line

g0 Ja) (B puS 0 oD Dl ¥ (o e LA (30 To) S Lol piiused) Juo S
12. (=2, 11, (5, 6) 13. (=9, —11), (6, 3) 14. (—15, 3.5), (45, 6)

15. (=45, 95), (-1, 2.5) 16. (=8, —0.5), (-4, 5) 17. (=6, —2), (—15,5.5)

Find the slope of the line that passes through each pair of points. Express as a fraction
in simplest form.
5 14 5

12. (=2,11),(5,6) —5 13. (=9, —11), (6,3) 75 14. (—15,3.5), (4.5,6) =
1

15. (=45,9.5), (~1,25) =2 16. (=8, —0.5), (—4,5) 3 17. (—6, —2), (—1.5, 5.5) %

10



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://iwtsp.com/971502509447
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN

050-2509447 Alall jdie gaall g~ 4558 Ciluaaly ) clilaial 5 2 35l 3L

e Tl itan ] upsal o o https://tme/mathbookIIGEN %z@%? https://t.me/alllaaams?
O

ouiieaall o dadlg dles Jame o) Aslas &US
11 Exercises (17-22) P87

Write an equation of a line given the slope and a point on the line

ol e T9) S k! (el Adalae aS!

17. (=2, —6), (4, 6) 18. (-8, —5), (-3, 10) 19. (—4,12), (-2, —4)
20.(4.6, 3.4), (2.2, 2.8) 21. (55, 0.6), (11, 2.8) 22. (=25, —16), (=29, 12)
17. y=2x—2
18. y=3x+19

19. y = —-8x—20
20. y = 0.25x + 2.25
21. y = —0.5x+ 3.35
22. y = —7x— 191

11
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Identify and use parent functions

I Exeruses (33-38) | P106

A1 g3 Wslas s [SOIGHIRIN

D Write an equation for each function.

3.2
33. A vy T4 y=x2+1 34, y y=-=x
\ 1 1‘ 6 I‘ 16
\ | - /
- /
\ /
\[ 1/ N/
\_|, /
\\ J
o X —8 |—4 %{4 8 X
35. y y=x—5 36. y y=|x+ 3|
0 X ‘W
(0] X
37. Rny f =x—2)?% 38 y y=I1x1—4
\ |
\ | o X
A
\ /
Oy X

12
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13 z Exermses (13-24) | P133
Solve systems of linear equations algebraically I
A plasiuly S slaed) Gediif e pLAS US S
13. x+ 5y =3 14. y=2x—10 @2a+8b_—8
3x— 2y=-8 y=-4x+8 3a — 5b =22
16. a — 3b = —22 17. 6x — 7y = 23 18. 9¢ — 3d = —33
4a + 2b= —4 8x+ 4y =44 6c + 5d = —8
i plasiuly C¥slaed) dediil (o a3 S 5
19. —6w — 8z = —44 20. 4x — 3y = 29 21. 3a + 5b = —-27
3w + 6z = 36 4x + 3y =35 4a + 10b = —46
22. 8a — 3b = —11 23. 5a + 15b = —24 24. 6x — 4y =30
S5a + 2b = -3 —2a — 6b = 28 12x + 5y = —18
3. x + 5y =3 4. y=2x— 0 ®Za+8b——

6.

19.

22,

3x—2y=-8 (—21)

a—3b=-22
Ya + 2b= -l (-1, 6)

—bw — 8z= —Ul
3w+ 6z2=36 (—2,7)

8a — 3b=—Il
5a + 2b=-3 (- D

A (8, —10)

17.

20.

23.

B (2, -2)

y=-Ux+8 (@3, - 3a—5b =22 (4}, —2)

bx—7y=23
8x + Uy = uu (5,1)

18. 9¢ — 3d = —33
6¢c + 5d = -8 (—3, 2)

eidal) aladioly i laa aUa S Ja

Ux — 3y = 29
Ux +3y=35 (81

A. 30+ 5b=-27
Ug + 10b = —U46 (—U, —3)

5q + 55 = —24
—20— 6b=128 JsapY

4. 6x — Uy = 30
12x + 5y=—18 (I, —6)

B Sobasd) aladl > 9a Lo 25

Ux + 3y =2
Ux — 2y=12

C (—I0, W D Uo aos ¥

13
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14 I Exermses (17-22) | P167

Identify the property of equality of two matrices

Ad ) DY alagd) (e US Jo o>

17. [4x 3yl=[12 -1] (3’—%)

18. [2x 3 3z]=[5 3y 9](25,1,3)

[43(]_{15-{-1‘]
9. 5= 2y—1]63

x+ 3y
. 3x+y (2, —5)

2x + vy
x — 3y 13 (4, =3)

4x—3 3y |_|9 ]
7 13| |7 22+41[@ 56

21

2,

14
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15 Exampled P172
Perform algebraic operations with matrices I
O lgdas) daaaie colleatl 2 .|“,,-;
. —4 -8 - 12
—4B —3A ud . B= _3],A=[ _6];,15131
_ -4 -8] ,[-9 12
—4B —3A = 4[ 5 3] 73 5 g
_[—4(-9 -4(-9) [3 ]
| —4(2) —4(—3) |
[ 16 32] [ —27
L-8 12 6 —18
_[16—(=27) 32-36 ]
N -8—-6 12 —(—18)
[ 43 -4
~1-14 30
O 0
—107 -9 12 5 -5 3
12 —32 —6B+7A a3 B=| 5 —4|,A=| 6 —8|u51.4
—10 105 4 _7 2 9

15
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OBgacll Qb

Exeruses (21-28)

Multiply matrices

I P132

-10 6

21. [1 6]-[ 6] 22. _3]-[2 ~71

[ 3 7] [4 4 1 0] [6 -3
. | —2 —1]'[9 —3] 2.1 5 2]'[7 —2]

[ 1 0 6 5 -7 6 4 -9 7
25. | -4 —10 4]’[—2 —9] 6.1 , g 7]' i

- 4 2
2|2 ] _g] 6 7 28. _‘;]-[—3 1]

- -2 1
Find each product, if possible. )

10 6 B 12 —42

21. [1 6] [26] 29, _3}-[2 7][ i 21]

3 71 4 4][-73 9 [—1 0] [6¢ —3][—§ 3
% | —2 —1]'[9 —3] [—17 —5] -1 5 2]'[7 —2] [ 44 —19]

- 7

., | 0 6 5 —7 —6 4 -9 —70
25'_—4 -10 4]'[—2 —9] 26'_ 2 8 7]‘ i [ 53]

undefined > il

- 4 — r

2 9 -3 [ ] 4] . . [ 1 4]
27._4 A 0]- —6 7 22 128._ 8] [—3 —1] “Of =B

-2

1

16
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Multiply, divide, and simplify monomials and expressions involving powers I

Exercises (16-23)

P221

16. (5x% %) (4xy®) 7. (—2b%)(4p%c?)

—7xy°z4 71,55
20, — 2= 2, b
21x’y°z 18a”b°c
4
16. (5x%y5)(4xy3) 20X
y2

_7x5y574 2
21x7y5z2  —3x?

3,7
18. &1 g2p3
an

22. (n®)* n20

0 ol peiiie dor g ¥ Gl 4o 5B .3 0u0 Jas¥ Jior

a’n” _y325
18 0
22. (n9)* 23. (z3)°

N o ggl.u.q. o v gi g9 pos =y |

17. (=2b3¢c)(4b%c?) —gp5c3

21, 9a’b°c’ a’c?
18a°p°c3 2b4

355 2

19. . £

y223

23. (3)° z18

17
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18 Exercises (1-11) | P229
Divide polynomials using long division I

8,00 Jaun oo

. axy? — 2xy + 2x%y

7 2. (3a%b — 6ab + 5ab?)(ab)~!
3. x2—6x—20)+ (x+2) 4. 2a*—4a—8)~(a+1)
5. (32* — 623 —9z%2 +3z—6) + (z+ 3) 6. () —32—20)+(y—2)

AX? 43X — 94 — 07 ol wew ) duais (e jLis ¥l 7

19 19 19
A—x—7+m B —x—-7 Cx+7— — D—x—7—4_x
e dawl i
8. (10x? + 15x + 20) + (5x + 5) 9. (18a*+6a+9) + (3a—2)
10 12b% +23b + 15 1 27y% + 27y — 30
: 3b+38 Y 9y-—6
S = W)
4xy? — 2xy + 2x2
v ny Yay+2x—2 2. (3a’b— 6ab+5ab’)ab)~' 3a+5b—6
4 2
2 _ — = —8— 2 _ _ - — 6 —
3. (x*—6x—20)+(x+2) x—8 <12 4. (2a*—4a—8)+~(a+1) 2a—6 2+
5. (3z4—6z3—922+3z—6);(z+ 3) 6. (45 —3y2—20) = (y— 2)
3 2 309
327 =15z +36z —105+ ——/5— y4+2y3 +4y? +5y+10
A (X% +3x— 94 — 2071 g5l 2581 @l atl) gl Sdate (e sLisl 7
19 19 19
A —x—7+7 B—x—7 C x+7 -7 D —x-7-7->
= )
8. (10x? + 15x + 20) + (5x + 5) +Ba—-2) 6a+6+392—1_2
1262+ 23b+15 39 27y*+27y-30

18
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19
Evaluate functions by using synthetic substitution I
gd JS dad A =—P +x+1yc) =222 — 4+ 3 yls 13

29. ¢(3q) 30. 5d(2q) 31 c(v?)
32. d(4a?) 33. d(dy — 3) 34, ¢(y?> —1)

29. 18a2 — 12a + 3
30. —40a3 + 10a + 5

31. 2b% — 4b2 + 3
32. —64a% + 43?2 + 1

33. —64 ) + 144 y* — 104y + 25
34. 2y? —8y2 + 9
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20 Exermses (34-39) | P247
Find the relative maxima and minima of polynomial functions I
b Lea S Josi
o (g i ‘.i e Ll S Gldlaa ¥ LG COlS 13) Lo adarg (9 98 Aadd S v SlasY ,38 .a
e S T Sla¥l ,38 b
Aol RS0 i s phiel 2is .C
Laldeg W) Jlows 20 .d
34, y il 35 ) y il 36 y
/ | /
N\ / /
/ \{ / / / \
A 0 X \ 0 /| x \0 X
G \_ /LA L/
I \LL/ \ VAN A V4 l\ /
\U/4 | /
Y Y
37. y y 38. y A 39. y
\ |
N\ N\ |
[\ { [ |
J |
\'J I Tx Oﬁ X \lo X
/ A
/ \!/ \
/ |V !
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2( 530 , =W adl) ,—2.5(_ss1) ,—3.5(_.23)) .34a
34b. 175, —0.25, 3.5
34c. 5
R={ainast) slac¥ pex} D ={azas slaed) oo} .34d
15(_ss) ,—0.5(_az) ,—2.5(_:s)) .35a
35b. —35, —1,0, 3
35c. 4
R={y|y= —31}:D = {anasd slac¥l a0} .35d
250,230 1051 ,—2(.a2)) .36a
36b. —35, —05
36c. 4
R={y|y=< 41} D ={azna> slac¥ pu>} .36d
(o) , =1 a3l ,—2( 551 ,—2.5( a3l) ,—3.5( 1) .37a
29 .—0.25,—175 ,—2 ,—3.25 ,—~3.75 .37b
37c.. 6
R={y|y= -5} D ={aaasd) 51ac¥ pus} .37d
130 ,—175( a8l) ,—2.5(0) ,—3.5(,,.a3]) .38a
2( 550 A a3h)
38b. —4, —3, 0, 15, 2.75
38¢.. 7
R ={azma>) slace¥ poer} D = {amasd) slacd¥) o>} .38d
150 ,—2( a3 .39a
39b. —3, —05; 2
39c.. 3
R = {Gaas)) slae¥) per} D = {acasd) slacd) ans} .39d
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